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SPleyemrset : (1) Smasg NHaTssEhd FHlwrs o&a Ldeurd 2 6TaTsT 6Temgeamer
sflurisgs Oararerab. F&LUdaledr Gopul@mulger <emms
sansrenilliurerflib o L amnguwirs Csfelssean.

2) Beod g H@mHLUY @wulamen er(pglausHEGD iigsCsTigHeugn@LD

Lwem(h$s Ceuamr(hHib. LLBIGET euareugm@ Oluemdled Lwear(hgse .
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@l : Qeualeamsgrer mrenE LGdHsmers Casmaimg.

Note : This question paper contains four parts.

U@&3| - 1/ PART -1

@Y : () IS g elamsasEpsEL allenL waldse] L. 12x1=12
(i) GarGssuul(Herer mrem@ WwWrHM elenLsafle) W& 6rmHLjenL Wl
e wmears Cosmrosbhss GHNUELHL el wmaryn Csrsg
CT(LPSELD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. 2aCrrsdlu engebd eremigl eTgem ULl LaTum@Gh ?

(1) Geurr (<) g;G&OT@ (@) @mwaseh (rF) evrger
The endarch condition is the characteristic feature of :

(a) Root (b) Stem (c) Leaves (d) Flowers

2. TFM eremmug) Gaemilen erhg LGS Qurmeners @GMlsSng ?

(=) srgl o Ly (<) emeuLl_L O

(@) Gamupliy QuimmLger (rr) srrCumenant Gl
TFM in soaps represents content in soap.

(a) Mineral (b)  Vitamin

(c) Fatty matter (d) Carbohydrate

3.  Gumg eumuyy wrhledluder &L
(<=4) 3.81] Comep~ T K1 (<) 8.03 ] Gure~ 1 K1
(@) 1.38] Gwme~ T K1 (rF) 8317 Gume 1 K1
The value of Universal Gas Constant :
(@) 3.81Jmol 1K1 (b) 8.03] mol~ 1K1

() 1.38 ] mol~1K-1 (d) 831Jmol-1K-!

4. FlCem eurl waenfl eTemg THEIMLI S, ?
(=) WleGenL TeuT (<) WesL 58 e
() e <ypmed (/) Bler Hme
Kilowatt hour is the unit of :
(a) resistivity (b)  conductivity

(c) electrical energy (d) electrical power
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DNA -eeu Gleul L1 bweruhib Cprs

(1) yGrmiigCuien (<) Qrevi_M&even erawrGLmbluseflGuien
(@) DNA avaGsen () RNA Qprélser

An enzyme which cuts DNA is :

(a) Protease (b) Restriction endonuclease

(c) DNA Ligase (d) RNAase

e Come eremLig) CPOEIMSETE ©lSTETg (S ELD.

(<) 6.023 x10%3 (<) 6.023x1072 (@) 3.0115x10%  (rF) 12.046x10%3
One mole of any substance contains molecules.

(a) 6.023x10% (b) 6.023x10723  (¢) 3.0115x10% (d) 12.046x10%3

sanevenod &TLl erer @GOG LL(heug ergl ?

(<) Wellwed &yl (<) 9yl &rod
(@) engyml@ &ylid (/F) o Mered &rin9
Which one is referred as “Master gland” ?

(a) Pineal gland (b) Pituitary gland

(c) Thyroid gland (d) Adrenal gland

srhm el w&THEEEF Csrdms Bl umb sreugmseier ueaTLsGerm(H
Qgr_mddeorsg ergl ?

(=) DEOTSHET GFITETONGT &EFHESESHSETHMT 2 HLSGS ClFidleamer.

(=) Gopywrerg Quilugrseab, QeuelCw BiligsCararhind @maELb.

(@) waergeT B, wenrd LOHMID CHeT FT&EGL Serenoulenamd ol TeTi (HdELD.
(FF) LEIBESESHSETHET SPMWSTHa|D 2 OMHSSTHED @) (HEHELD.

Which among the following is not the characteristic of anemophilous plants ?

(a) the flowers produce enormous amount of pollen grains.
(b)  the stigmas are large and protruding.

(c) the flowers are brightly coloured, have smell and nectar.
(

d) pollen grains are small and dry.
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10.

11.

EPESETL_oUDMIET HlenaDD THEEF FTTHSS ?

(=) GQumrmefilen erenL (=) Cametler il Wp(H&SWD
(@) Qurgaier Hep (M) (1) wpmid (<)

Inertia of a body depends on :

(a) Weight of the object (b)  Acceleration due to gravity of planet

(c) Mass of the object (d) Both (a) and (b)

@rss @l Lgder sflwrer eufleng erg ?

(=) CeuanrMgHler — eriflwib — Hevy — sioe
(<) giflub — Qeuamfsdler — Hany — sloe
(@) giflub - Ceusm MNadler — gwafl — Heany
(rF) QeuerlM&dler — Heny — eriflwibd — sioe
Which is the correct sequence of blood flow ?

a) Ventricle - Atrium — Vein — Arteries

(

(b) Atrium — Ventricle — Vein — Arteries
(c) Atrium — Ventricle — Arteries — Vein
(

d) Ventricle - Vein — Atrium — Arteries

Gemeu(meuameudmieT 6Tl “Seflobd + el — CFTobh” euams 6 ?

() 2CO, + Oy —>2CO, (/) 4Fe g +30,,—>2Fe,05

2(g
Which of the following is not an “element + element — compound” type reaction ?

() 2CO(y) + Oy —2C0y (d)  4Fe()+30,4,—>2Fe,05
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12. erh8edlwed GQFevadled LHmIGCHTL 2 (HeuTeusn (S erem Guwi.
(<) wsCalwr (<) gri&EGamom
(8) smidlGenmiom (/F) elLGumom

Cancer of the epithelial cell is called as

(a) Leukaemia (b) Sarcoma

(c) Carcinoma (d) Lipoma

L@&3 - 11/ PART - 11

SO : eTemauGuend a7 efarTs s @hd@ allen_waelldse b, eflarm eram 22 -&@&
SLLTwng 6SenL wefl&Ese|b. 7x2=14

Note : Answer any seven questions. Question No. 22 is compulsory.

13. Gsmhp Geulin eflfle] @Gearsd eTemmmed eTerer ?

What is coefficient of apparent expansion ?

14. Wemeflenlp eflers@saiianr Lmievar 2 Carsnd LwearUOHSSULOEDGE. perme LWler
2 (hdl QeppWwrs gearl LwerUhdgHleusdlena. erer ?

Why is tungsten metal used in bulbs but not used as fuse wires ?

15. & eraLg) eTenas ? GI(hH 2 (HeUMG6USET FGTUTL ML S &(Hs.

What is rust ? Give the equation for the formation of rust.

16. GenL eTaimmed eTesme ?

What is stage ?
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17.  ensCenm eriflwe sewm “@swsHen CLeVCLEST eremm el HP&SSUILIHSDSE ?

Why is sinoatrial node called as pacemaker of heart ?

18. e epenerudler LITGBIGET Wrenel ?

What are the parts of the hind brain ?

19. Qasr@ssiuul(Herer LLGHed A, B, C bpmibd D <l LUTEHISmeT 60l WTeTLD

HTETG LD.

Identify the parts A, B, C and D in the given figure.

v

20. Qsreevl g (FOLT) 6rempmed eremer ? LiTed 2 HUSHWLTTE anTiGLOT6TE6TTe
ereueUTm @(PBIGUOSSLILIGF DG ?

What is colostrum ? How is milk production hormonally regulated ?

21. QL revLTélev Temmmed eTese ?

What is metastasis ?

22. g sarsedler pH Sl 4.5 eraflé, oiger pOH wSllienus srems.

If the pH of a solution is 4.5, find the value of its pOH.
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U@&S - 11/ PART - III

GO : eTemauGuend e efarTs s @hd@ elen_welldse b, eflarm eram 32 -&@&

SL_L_muwng adenL_weflésab. 7x4=28

Note : Answer any seven questions. Question No. 32 is compulsory.

23.

24.

25.

26.

Blepawsler LiGeun eumssmeT 6T(HSSHISHTL(N&HEHL6T cIlemd:@s.

Explain the various types of inertia with examples.

(<) Qupens wHmiIb Gswnens sdflusssdler rCseID PLPETM LIGRTLIHENET 6T (LS.
(=) WenGarml_Lgdler Geuli efenerenculs LweTU(RHGS CsweouBn @rem® Ller

grgeanmigeten GUwfamens smms.
(a) Write any three features of natural and artificial radioactivity.

(b) Name any two devices, which are working on the heating effect of current.

(=) MgSO,.7H,0 2 Lilener CQeulilin(®hsgbGurg) ereer Hlapdmg ? @)eueilenens-
&TE FLOGTLITL Iq 6DE 6T(LHG)IS.

(<=4,) sTHmerr — eUETLMIGSELD.

(a) What happens when MgSO,.7H,0 is heated ? Write the appropriate equation.

(b)  Define : Solubility.

(Sl) FQUTEF [F6Y GTETMTE) GTEITET ?

(<) el CorsansullarCumrg @ mer ellenand@ (et erem eafl ellenar BmenL_GlLm
Couamt(hLd ?

(a) What is Respiratory Quotient ?

(b)  Why should the light dependent reaction occur before light independent reaction during
photosynthesis ?
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27.

28.

29.

30.

31.

32.

(PUISET Lied eUMILILITL Iq6NET 6T(LPSIS.

Write the dental formula of rabbit.

(=) sreurmser LHML alem@Gseaie wiletriy Hlame FTSSLTRISTS 66l
s®sILGSEDG ?
(<) Bluyrrenser eupblen Senwliber ojqlital uled eredelmm euansLiLhgsLi-

UL (heTere ?
(a) Why is Euploidy considered to be advantageous to both plants and animals ?

(b) Classify Neurons based on its structure.

SLafl&@Ehb, SanrseEph Sjewliber ojqliuemLuild ereueurn Ceumubhdlermer ?

How are Arteries and Veins structurally different from one another ?

ULy @& SralfFedlilc rarlSenaT eUeTLNISE, S (PEHWSFHIeISMS 6T(LPSIS.

Define Ethnobotany and write its importance.

(=) srplubernmed gHuL &gl eleneTe|HeT WTenel ?
(<) DNA &llyeb Grenss Csmfler milLgdlen menl(penm LILETUT(HSM6Ts Fnmid.
(a) What are the consequences of deforestation ?

(b) State the applications of DNA finger printing technique.

(=) erhg @leb gidlaflu o Carssans CeuwuLT HlanwsaE o L LHSSHID ? erer ?

(<=4) 1.51x10% pp@ddam 2mLw NH,Cl -en Cuordseaier eremmanilsandsemwd

FTES (5.
(a) Name the acid that renders Aluminium passive. Why ?

(b) Calculate the number of moles in 1.51 x 102 molecules of NH,CL.



9 7729

UGS - IV / PART - IV

SN : Siemensgl HamssEpsEh elelweallssea|b. Comeuwnrar @Lkisafler LL LD

Note :

QUM T WG LD. 3x7=21

Answer all the questions. Draw diagrams wherever necessary.

&N GlevETHl 6T LILIGTEHET WITene ?
Blplidflens — euenyLUmISESa|LD.
CurE@euUrsgIF engens allenéGaer SlalliL) Hingdle) emn&sLILI[HEUSET HTTamTLD
GTEuTeT ?
BEHD HlewTGanradulern FSDmerey ereme ?
S|6V60G)

er$Clymedl eraTmmed 6TENET ?
er$lCrmell Calgnarer Qe HlUbSHETHMETs Fnmis.
er$lClymedludlen mSHIEIL LILIGTSEENETS Fnnis.
erdlCrmallenwits LweruhgS eedlufen HansColssmss SmemTs.
What are the uses of convex lens ?
Define dispersion of light.
Why are traffic signals red in colour ?
What is the least count of travelling microscope ?

OR
What is an echo ?
State two conditions necessary for hearing an echo.

What are the medical applications of echo ?

How can you calculate the speed of sound using echo ?
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eGr Geulu 9iwss Hleneuded 3 6. O,, 5 &0l. Cl, Hmid 6 60l. H, aumr&ssenarr
T (5% QETesTL 6
(A) ety Fs eramanilGanguiliorear cpdsamsamers ClETemiq(HHEGD ?
(B) Tl GmmhS eTranTeanmtl&EangHularer (LpasanmseeTd Ol&Teiq(Ha@G0 ?
m@ﬁ@‘r Slamis Caretenguienr CamlLm(hasamer 6T(Lps)s.

VOV
gL TClepaRr g6 ereueumm Heny wrsliu@Bsgdeamen ?
@@ sfws Carwd ‘A" erarugen epssam eumiiur® C,H,O0,. @g
ugslu(OSgISeler LwearLBdHng. Coaib asFarmaar alamerflbg
@aflwu wewripen_wi Carod ‘B -anwid SmEmg erefle,
(A) Ceod ‘A’ -eowd SaTLmls.
(B) Gaod ‘B’ 2 (Heunse ellenemuiiene 6r(ps)s.

Q) @nhlspeinEl Cuwi@s.
Under same conditions of temperature and pressure, if you collect 3 litre of O,,
5 litre of Cl, and 6 litre of H,,
(A) Which has the highest number of molecules ?
(B)  Which has the lowest number of molecules ?
Give the salient features of ‘Modern Atomic theory’.
OR
How do detergents cause water pollution ?

An organic compound ‘A’ is widely used as a preservative and has the molecular
formula C,H,O,. This compound reacts with ethanol to form a sweet smelling

compound ‘B’, then
(A) Identify the compound “A’.
(B)  Write the chemical equation for its reaction with ethanol to form compound

‘B’.

(C) Name this process.
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Qeupens <, sedlanger eranlienel Wreel ? T(HSSHIEETL(H S(Hs.
LSGD STeurssler 2 6Tem @Goassdlen Senlienll LITESD WwHmID UL S| 6
eNlemd @ s.
S|6V60F)
“@iSl usamwl LIl fuller shang” eTer enpdsLIL(HLelT wirr ?
o sl wpnibd Qesessoriy] — CoumBhEsis.
auens 1 wpmid euens I Bflifley Crriisamer CoumLi(Hssg)s.
What are synthetic auxins ? Give an example.

With a neat labelled diagram, describe the parts of the typical angiospermic ovule.
OR

Who is called the “Father of Indian Green Revolution” ?

Differentiate between out-breeding and in-breeding.

Differentiate between Type-I and Type-II Diabetes mellitus.
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